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No. of Questions : 150
WeAl & aE : 150

Time : Two Hours _ : Full Marks : 450

O ;Y uee quiE : 450

Note : The paper consists of 170 Objective Type Questions and is divided
into Three Sections (I ,II & III) as under:

{a} Section - I consists of 130 Objective Type Questions.

{b) Section - II consists of 20 Objective Type Questions on English
Language Comprehension.

(c) Section-III consists of 20 Objective Type Questions on Hindi
Language Comprehension.

Instructions :

Out of total 170 questions, you have to attempt 150 questions only.
There are 130 questions in Section -1. You have to attempt as many
questions as you can. In Section -II, there are 20 questions for
English Language Comprehension and in Section -III there are
20 questions for Hindi Language Comprehension. Attempt as many
questions as you can either from Section ~II (English) or from
Section -III (Hindi). In all you have to attempt 150 questions. Each
question carries 3 marks, one mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattampted

question.

ACH

39 WE-15 T K3 gU F9 170 W ¥ 9§ 9 150 W F W A 7
wWUe-1 % ¥ Uft 130 I W @ srfuraas AT W AT & w2
WUS-1i § NS ey % 20 WA § 9 wue-1g § R wwra &

3 P.T.O.
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01.

03.

04.

20 W B YS! Fral ST ey @7 e ey ¥ ye % I 2w
21 30 TE H 150 T F SW 23 ¥ ¥d® IW F R 3 i Pt
| WRie o SO & 1T U 3iE 1T AT N® SAE S @
i Y 2

The National level organization that discharges regulatory functions
for teacher education in India is :

(1) AICTE (2) DAMT (3) NCERT (4) NCTE
Fﬁwﬁmﬁmmﬁmm%mmwww

(1) uomH s (2) duwd
(3) W ¥R (4) WHAT

. The first modern university in India was set up in 1857 at :
(1) Bombay (2) Calcutta (3) Delhi (4) Madras
IR W vgen anyfs favafammer™ 1857 A fre v W wfya faan e an?
(1) =% (2) HTHM (@) feoet (4) s

The target year for achieving the goal of UEE under Sarva Shiksha
Abhiyan is :

wd fren M ¥ Swiq UEE ¥ S99 ® a0 & forg e o ]
(1) 2007 (2) 2010 (3) 2012 (4) 2015

Which one of the following is included in the list of educationally
backward states ?

(1) Himachal Pradesh (2} Kerla

(3} Orissa (4) Punjab

freafafaa & @ #5  w frow T=1 % g2t | wite @ 2

(1) fewe=a &9 (2) = (3) IS 4) U=
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06.

07.

08-
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Which of the following philosophies believes in the authority of Vedas?
(1) Buddhism (2} Charvaka (3) Jainism (4) Sankhya
frefafas & @ = W T 3 ) w0 wEw 2

(1) s (2) e (3) oA @) W

The year was declared as the International Year of the Disabled Per-
sOnSs :

fammatii @1 stista o, | =1 wifsa fFan ™ @
(1) 1978 (2) 1981 (3) 1987 (4) 1999

Which of the following is not included in four noble truths ?
{1) Misery can't be eliminated (2) Misery has a cause

(3) Misery has an end (4) There is a remedy for misery.
frafafas & @ 919 @ v wR o wdl ¥ wfinfag adff 2 2

(1) &8 QT & wFa (2) T@ HHERU ?

(3) TWH ATE | (4) TW T FA H I 2

Which one of the following is the role of NCERT ?

(1) To conduct public examination for the Kendriya Vidyalayas.
(2) To grant affiliation to Central schools.

(3} To improve the quality of school education in India.

(4) To undertake supervision of schools in India.

frfafea ¥ @ B9 @ @ WRIIRA, 3 gt @ 2
(1) = faenerdl =t ufecrs weh T9& AT

2) FE F formerl S 7R YEH S

(3) A # faeerdia fan &6t yorerar § ER M
(4) 9RG % TEe & THAKO R GO FE

S P.T.O.
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09. Which of the following is an example of criterian-referenced evalua-

10.

11‘

tion?
(1} Geeta corrected 80 items out of 100 items in a test within 60
minutes.

(2) John is an average student in the class.
(3] Mohan stood third in the class.
(4) Ram scores 50 marks in science.

frafafea & @ S @ Seraw Frerd =il yeue € ?
(1) A 60 fe H 100 ¥ 9 80 92 ¥ 7A@ fEQ

(2) S wan W staa W ® BE R

(3) TEA Han ¥ e T W TN

(4) T, fagm fawa ¥ 50 i ww fFy)

Which of the following statements does not reveal characteristic of
socialism?

(1) Competition has an important place in socialism.

{2) Socialism accepts individual as an organ of society.

(3) Socialism does not accept separate entity of individual.
(4) Socialism opposes capitalism.

frefefign § @ 91 W Fy9 gawEe it ¢ 99w 2
(1) et ¥ ShEfi s reEyol wm f)

(2) WHISERE S W 9N H TF 3 AT R

(3) WHRER =it 1 U 91 98 A 9

(4) wmeER, e w1 s s @)

In India development of democratic citizenship as an educational aim
was said by ;

(1) Hunter Commission (2) Mudaliar Commission

(3) Sadler Commission {(4) Sanskrit Commission.
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qa W e A % fawr = s Sevd feem &e —

(1) TTR FHEA (2) WETER FHeA

(3) USER FHRH (4) TFq HHINEA

The name of ancient Jewish school was :

(1) Academy (2) Lycium (3) School (4) Synagogue
W= g formmera = AW 9@

(1) STHrEH (2) <faam (3) foraem (4) faamin

In which of the following was the objective of Gandhian philosophy
Basic Education ?

(1) The all round development of Children.

(2) To develop Private Managed Educational Institution.
(3) Education was not essential for all in India.

(4) To oppose the English Education.

fr=fafga & 9 95 @ M o Ft gFEd-fan w1 tym a2
(1) o & |afdior faeerd e

(2) 9Ra ¥ froht vemvm ) Qeifors deameli @ faem w3
(3) wWRa H aft & form foen smavas & o

(4) 3l foan o fadig M

Which of the following factors is not an essential characteristic of
Indian philosophy ?

(1) Faith in moral order (2) Law of Karma

(3) Pessimism (4) Spiritualism

frafafas § § 959 W qa IR S @t st fadva st @ 2
(1) 3 sgoren ¥ favarg (2) H & Frm

(3) TmmER (4) oneAfeERal

7 P.T.O.
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15.

16.

17.

The first Indian Womens University (SNDT) established on :
(1) 3 June 1912 (2) 3 June 1916
(3} 3 June 1920 {4) 3 June 1924

T R Afeen forvafame (vw @ € 3) =
(1) 3541912 (2) 3§71916 (3) 311920 (4) 31924

Which one of the following statement is correct ?

(1) A unit planning helps in deciding about the schedule of activi-
ties.

{2) A unit planning helps in conceptualization of teaching-learning
process.

(3) A unit planning comparises of number of lesson plans.

(4) A unit planning is smaller in scope of lesson plannings.

frafafad # @ S0 W @ w9 W@ 2 2

(1) SHE dF Gramend #t 999 ATl SR § ges gt 2
2) T Ao - afE % TR ¥ g Bt
(3) R AsFr W e wrdeEd wfinfed S €

(4) THIE ASET H AT WS- A B e R

Which of the following is not a chracteristic of urbanization ?

(1) Facilities are available for cinema houses, roads, school etc.
(2) Urban people imitate the villagers.

(3) Villages gradually turn to be suburbans.

(4) Women are sufficiently free.

freferfad § 9 vRds &t Si-d fodhvar 7 € 2
(1) PR, TS, TR ok # gla B 2l
(2) W& ¥ W, Wa Al H SFHO F B

(3) Ta dR-4R IuwET 9 S €

(4) fordi %) wata s e 2
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20.

21.
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Which of the following are considered most desirable multi sensory
materials ?

(1} Materials where only one sense is used

(2) Materials where it is allowed to use only two senses.
(3) Materials where three senses are used.

(4) Materials where two or more than two senses are used.

frrfafaa § @ i 9giad it & &9 A gl afes aieia © 2
(1) =8 | RO $aa wF TR0 ST § ot ?)
(2) o% Gl R wad & IE-30EE wm W o 2
(3) =% anEh fomy et 9 IF-sheal s o §
(4) o8 Al oy W AV afew ge-shedl seEm § e /)

Who was recommended Anshaunng method ?

(1) Pestalozzi (2) Plato (3) Russell (4) Socrates
aquim-fafy & stpeien feom &t ) 2

(1) ¥ILER (2) @R (3) & (4) g&@
Which of the following provides a carefully argued analysis ?

(1) Computer conferencing (2) Face to face tutoring

(3} Lecturing (4) Telephone tutoring

gﬁﬁmﬁﬂaﬁﬂmwmﬁwﬁwﬁmmwmm

(1) FFgS GEl (2) TEfTE e

(3) AN (4) XA fagror

What is the basis of caste in India ?

(1) Birth (2) Money {3) Post (4) Vocation
qd & SR T SR T § 2

(1) S 2) ¥ (So[) (3) T (4) =HEUE

9 P.T.O.
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22,

23.

24.

25.

Which of the following is best suitable for the development of affective
attributes ?

(1) Audio tape (2) Charts

(3) Maps (4) OHP transparencies
THgEE T % faem ¥y el § 4 S8 W wem w6 € 2
(1) #=12g 2) =R

(3) wHfaw (4) 3. w=L d. e

Which age-group from the following is within the concept of Primary-
Education in India ?

(1) First Three Years (2) First Five Years
(3) First Eight Years (4) First Four Years

%Iﬂﬂﬁmmﬁmﬁeﬁmmafwﬁﬁmﬂﬁ@ﬁmm—aﬁﬁ
?

(1) 999 & o (2) WeH e a9
(3) ¥ A8 o (4) Y99 IR 9

Whoe gave the concept of social efficiency ?

(1) Dewey (2) Hegel {3} James (4) Pierce
IR e Sl Saanon foee & 2

(1) <t (2) ¥ (3) < (4) od
Self-Instructional Material (SIM) is characterized by :

(1} distance learning (2} self-learning

(3) individualized learning (4) systematic learning
W-3ewA Wl (fom) it feeivan @

(1) T Al | (2) -

(3) =afema siftrm (4) HEHES A

10
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The first basic school under Gandhiji's scheme was setup at :

(1) Nagpur (2) Porbandar

(3) Sabarmati Ashram (4) Wardha

T St Y IS & g geen i faemer v fma o
(1) AR (2) IE=R

(3) GTSRH! EH (4) agi

The current government expenditure as percent of GNP in India is
about :

(1) 1 percent (2) 2 percent (3) 4 percent (4) 6 percent

IRd § GNP &1 fohaa1 ufiem =9 Idnm TR 5] fhar o 2
(1) e (2) Adfam (3) IR A (4) B N

Who supported Individual Aim of Education ?
(1) Durkheim (2} Karl Marx (3) Kilpatric (4) T.P. Nunn

fonan & Sufther 39T 1 HA Gl oA ?
(1) TEm 2) @ A (3) feenfow 4) & 0 T

Which one of the following is non-parametric test ?

(1} Analysis of variance (2} Analysis of co-variance
(3) Chi-square (4) Factor analysis
fretfafea & @ ®H W T R-srafes w2 2

(1) e faveimur (2) HE e faveryo

(3) FE-TARR (4) R fawemo
Creativity is identified by :

(1} Drawing (2) Old behaviour

{3} Music (4) New Result

11 P.T.O.
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31‘

32.

33.

34.

TSR B 99N o @
(1) feoemen § (2) W =EER d
(3) wilad (4) = aftorm @

The statement —"India’s future is being prepared in its classrooms” is
given by :

(1) Education Commission

(2) Mudaliar Commission

(3} National Policy on Education

{4) University Education Commission

“qRg H e wane) F TR 8 @ 2

I FHeA g fem 2

(1) foam s (2) HARTR M

(3) U foenm Hifx 4) favaferea fan s

Which one of the following is propounder of Conditioned Response
Theory ?

(1) Kohler (2) Pavlov (3) Skinner (4) Thorndike

fr=fafad § ¥ =19 ws gaqy vfarar fag = shoes € 2
(1) HER (2) TE 3) f&=R (4) 9IRS

"Society is the cobweb of social relationship” — who has given this
difinition ?

{1) Cook (2) Max Weber (3} Maclver (4) Ottaway
“TuTSt, WrAIfeTeR dEEl @ o 21 — 9% 9k fER & 2
(1) F% 2) HEIAR  (3) THER (4) SEeM

In which year from the followings Indira Gandhi National Open Uni-
versity was established :

frefafiea & 4 form ol sfaa 7t W g favafarmea 1 v g 2
(1) 1985 (2) 1986 (3) 1995 4) 1996

12
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38.
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Micro-teaching is a technique used for developing :
(1) Concepts of Content

(2) Moral Vahies

(3) Skills for preparing teaching aids

{4) Teaching skills.

gen-foem U aaAite 2, fasiaa +0 ¥
(1) foegeg w dwer i

() Sfae gl @
(3) eI SEEs-amd ¥R % wivd ®l
(4) faegor vl

Which of the following is an atheistic philosophy ?
(1) Charvaka (2) Sankhya (3} Vedanta (4) Yoga

frefafigs § @ &9 W T s SR © ?
(1} =d® (2) ued (3) 9T (4) @AM

National Institute of Open Schooling (NIOS) has been established as
an autonomous registered society under :

(1) MHRD 2) MSJ&E (3) NCIE (4) NCERT

T O fqae Tem (NIOS) #i U6 @EW sied dedel & 9 #
TG & i i T

(1) TH TE. AR, €. (2) TUH.TH. ¥ 3.

(3) WH S (4) wAHEem A
What is not important in games and sports ?

(1} Cooperation (2) Healthy competition
(3) Loosing and Winning (4) Socialization

13 P.T.O.
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Tergg T 991 eyl A € ?
(1) T&IM (2) Ty wfrifan (3) eR-Sa (4) WTHISHRTOT

39. Which one of the following is mot an essential characteristic of our.

tradition ?
(1) Bhogvad (2) Equality
(3) Honouring the guest (4) Rebirth

frfafiad ¥ @ #1709 3AR TR H ey T R 2
(1) wrene (2) HHFE (3) 3fefd R (4) TN

40, Selection of a research tools mainly depend on :

(1) Availability of the Tools (2) Our own decision
(3) Research Supervisor {4) Research Study
Ay ST T FET e FIR R € —

(1) SYFHTON & ST W (2) o9 Wi & fofg W
(3) WY fded W (4) Y FEHFT W

41. Who was chairman of Emotional Integration Committee ?
(1) L. S. Mudaliar (2) S. Radhakrishanan
(8} Sampurnanand (4) Zakir Hussain

WIS Tehal T ¥ sy FN & ?

(1) U T YRR (2) TH. QYFWH
(3) EEIT= | (4) ST g
42. The duration of Senior Secondary Education in India is :
{1) One Year (2) Two Years
(3) Three Years (4) Four Years

14
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IR W SeaaR WAl e =t sty €
(1) TH oy (2) <« ad (3) o s (4) <R Td

In which year Calcutta University Commission was established from
the following :

frafafan ¥ | fFa a9 werpar favafarmey s $1 W g8 o
(1) 1917-19 (2) 1937-39  (3) 1948-49  (4) 1952-53

Which type of education is responsible for the prosperity and devel-
opment of the citizens of whole country from the following :

{1} Elementry Education (2} Secondary Education

(3) Higher Secondary Education (4) Higher Education -
frefafad ¥ & wvgui 9 ol TR =t wafs T o =i 9 fran w fik
Ty YR .

(1) 9RfF fren (2) wreafs fran

(3) T=ga wreAfhes e (4) S<g fasn

Which class-group is appropriate for sex-education from the follow-
ing :

(1) Eleventh to Twelth (2) Ninth to Twelve
(3) Sixth to Eight (4) Sixth to Ninth
Prefifigd & ® S W war-wge dH-fen 37 I9gSE © 2
(1) TREE A SR 2) A ¥ IRt
(3) B ¥ el (4) S A

Lesson Planning helps in :

(1} Motivating learners for teaching

(2) Planning of teaching

(3) Evaluation of teaching

(4) Reducing to teaching burden of teachers.

15 P.T.O.
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47.

48.

49,

WS- FETF o ©

(1) it wal @6t fraror 3 KA &R F
) forzror # G w9
(3)  Rreqor &I gEiRT HA H
(4) Toees & R0 &1 9R 7 FE T

National Policy on Education is known to be in the year of :

wgra fasn Hifr af .. F A & SR @ R —
(1) 1984 (2) 1986 (3) 1992 (4) 2001

Which of the following is a characteristic of distance education ?
(1) Itis formal system

(2) Its teachers and classes are fixed

(3) In this system there is age limit for learners.

(4) It is a synthesis between non-formal and formal education.

frefafia # @ #i7 o ooy Risn =) o @ 2

(1) ¥E shoafe ygf @

(2) 3q% fuers a9 ey ffam 0 &

(3) IO o ¥ oy ® o gt 7

4) I8 sFveite o shvaiRe fran &1 wafag €9 21

Which one of the following is the role of SCERT ?

(1) To conduct public examination for state schools

(2) To grant affiliation to state schools

(3) To support teacher training programmes in the state
(4) To undertake supervision of schools in the state.

Preafafaa § @ o9 @ & @HRIIRA. i qftrr 2 2
(1) T3 & formerdl & fau aEfsfa wem 1 g™ F
(2) TS F foane™i $ U Yo ST

(3) TS H eATyeh! & HREYT FHrEHH Bl GAFT W FHE
(@) T ¥ foemadi w1 waew s

16
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Play-method is related to which philosophy ?
(1) Idealism (2) Naturalism (3) Pragmatism (4} Realism

| g0 feor vgfa fea o @ defig 2 2
(1) ARER  (2) YHfaEE (3) TESHERE 4) Indars

In a school time-table a hard subject is preferable to be allotted in :

(1) The first period (2) The second and third period
{3) Just before the recess (4) The last period

feramerdtn v wiftolt & uw wfew fava &) g Freiw ¥ T 0 sfam 2m?
(1) 39\ F&A 2) i wE wig s

(3] TEAEH F SIF qEA CTI (- (i

Who is the proponent of countenance mode! of curriculum evalua-
tion ? '

(1) Lewy (2) Stake (3) Stufflebean (4) Tylor
TIGSTHY oaioh & FISTITE HSH & Jods HiH 92
(1) =R 2) VS (3) WHEH (4) TR

Which one of the following areas does not fall under non-cognitive
behaviour ?

(1) Attitude (2) Evaluation (3) Interest (4) Values
frafafas & @ S 91 9 SRFAF SA9ER F aTa TE o ¢ 2

(1) wfa (2) FEEA @) % (4) HE
The real meaning of psychology is :

(1) Science of soul (2) Science of mind

{3) Science of consciousness (4)  Science of behaviour

17 P.T.O.
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55.

56.

57.

S8.

e 1 arafas od §

(1) e 1 fagm (2) s w1 faqm
(3) S W fagH (4) HTER w1 g
Which of the following is a problem solving curriculum ?
(1} Activity centred (2) Learner centred
(3) Core pattern (4) Integrated
frfafaa o § $ W YSWHT TS g9 A 9l € 2

(1) fFa Sfsm ) foanedi i@

(3) ®R Y (4) wAfHa

Annaul Examination conducted by schools on local level are :
(1) Formative Evaluation

(2} Continuous Evaluation

(3) Criterion Referenced Evaluation

(4) Norm Referenced Evaluation

e ¥ WY TR W mafNa 29 areh afde gdar A 2

(1) HeR® Yo (2) Had HeArw
3) frry defifs i (4) W Hefda qedie

In which year was National Literacy Mission established ?

UEH WisRd fiee w9 Tafyd g2 ?
(1) 1950 (2) 1956 (3) 1975 (4) 1988

Which is not required in distance education ?
(1) Personal contact programme (2) Print material
(3) Regular class-room teaching (4) use of audio-visual aids

18
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e et A forga! sievear TE € ?

(1) SafeTTa draeh FRfHT ) Hfsa amit

(3) Trafaa wan e (4) FAH-g¥E I F IwEm
Which one is input and output divice, both :

(1) Keyboard (2) Mouse (3) Printer (4) Floppy disk
(1) FSlwea  (2) WA (3) fre (4) vl feww
Which one is not a measure of central tendency ?

(1} Mean (2} Median (3} Mode (4} Variance
S 91 H= w3 B A9 T T 2

(1) AegAd (2) WA (3) WEClF (4) &

The chairman of UNESCO's International Commission Education was :
(1) Bill Clinton (2) Edger Faure
(3) John Dewey (4) U.Thant

AR, SRIER fran ST * 2y 4
(1) faafeRs (2) TOR®R  (3) S el @) 3, 9

The centre of Educational Psychology is :

(1) Child (2) Curriculum (3) School (4) Teacher
e TAIfAE w1 FE 2
(1) oI (2) UISTHH 3) faemem (4} 1T

"Root Mean Squared Deviation” is :
(1) Median (2) Percentile
(3) Standard Deviation (4) Variance

19 P.T.O.
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64.

65.

66.

67.

“erfiqra feraeT % T wiyE” ?
(1) #fegert (2) VEHF
(3) I fa=em (4) TERO

Which one of the following is a comparatively new terminology ?
(1) Children with special needs (2} Differently abled children
(3) Handicapped children (4) Special children
Frafafaa o @ 59 @ & dREd a1 TR € 2

(1) fafee stawasar 9 s=2 (2) o= 9raar I a=9

(3) T a== - (@) foftre =2

According to which of the following 'Pratyaksha, Anuman and Shabd'
are three sources of knowledge ?

(1) Purva-mimansa (2) Samkhya

(3) Vedas (4) Vedanta
frefafaa # 9 fFas SITER, ‘T, I79F T8 U 99 W & #ia € ?
(1) @HmEm (2 W @) = (4) =T

It is necessary for the education of adolescence :
(1} Good mannered education (2} Ideal education
(3) Moral education (4} Sex education

foreiY 5 foran & fow oTawas 2
(1) SR foen (2) owed fosn  (3) faw an (4) 99 faen

Which of the following is not a Division of NCC ?

(1) Adult Division (2) Girl's Division
(3) Junior Division (4) Senior Devision
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69.

70.

71.

10P/246/20(i)

frafafgs & @ S5 @ T fedom . H i ¢ ?

(1) TS fedoH 2) Tod feelm

(3) SfeR fedism (4) Hifer fediem

!n historical research the content of the data is critically evaluated

in:
(1} Content Analysis (2) Evaluation studies

{3} External criticism (4) Internal Criticism
Yrfes FATE B TER w0 favaeeg # ... ¥ godied fFa )
(1) forveesg fagewm (2) WEIFA AT

(3) SR WHIEARHA (4) SR FETEEH

When was education included in the concurrent list ?
foran =1 wifqam 9 uad g W w9 @ T ?
(1} 1947 (2) 1950 (3) 1971 (4) 1976

According to Gijju Bhai education of the child should start with :
(1) Counting (2) Drawing (3) Reading (4) Writing

TS % ST et %1 fuan wRY S =t
(1) firedt @ (2) TETN (3) YA (4) @G 9

In which state is Aurobindo Ashram situated in India ?
(1) Delhi State (2) Himachal Pradesh
(3) Pondicherry (4) Tamil Nadu

IR § R ofem e Tsg A e € 2
(1) feeei (2) feumm wRw (3) vifesd (4} wlueg
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72. In which of the following year, Mid-day meal scheme was started in

73,

74.

75.

India ? _

(1} 15 August 1995 (2) 15 August, 1996

(3) 15 August, 1997 (4) 15 August, 1998
frafafad 9 @ forg ad § yRa ¥ Asam 5| 9 r] & R 42
(1} 15 3P 1995 (2) 15 TR 1996

(3) 15 3T 1997 (4) 15 ST 1998

Which one of the following is not an effective measure of removing
inequality ?

(1) Compensatory Education

(2) Increasing the number of secondary schools

(3) Increasing the tuition fees

(4) Opening of New Universities and Colleges.

frfafed ¥ @ B O T SYE STEEET 1 g HA & o w6 R 2

(1) 9 faen (2) mwﬁmmaﬁfﬁmﬁqr@
(3) foeor o= A 3fg (4) T favafqere™ 9 s Qe
Emotion of 'anger' generally develops at the age of :

(1) 3-4 months (2) 8-10 months

(3) 18-24 months (4) 36-48 months

AT W’ WyRewA R 39 # faafa g € 2

(1) &9 & IR 7R o (2) o3 § TH WEH H

(3) °ZRE 9 HE wE | (4) o Y TgaEiY AE A
Which of the following is not true education ?

(1) Direct return (2) Indirect return

(3) Investment (4) Human resource development.
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77.

78.
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frafafaa # @ o e T @ 2

(1) 9 < (2) =gy w9
(3) st faw (4) FFAd Qe faEy
Mid-points of consecutive class intervals 62-69 and 69-76 are :
(1) 65and 73.5 (2} 65.5and 72.5

(3) 65 and 72 (4) 65.5and 73

ot ST 62-69 3R 6976 S TR 2, F Hey fargy € -

(1) 65 3 73.5 (2) 65.5 3R 72.5

(3) 65 3R 72 (4) 65.5 3R 73

Which is the highest advisory body in the field of education in India ?
(1) UGC (2) MHRD (3) NCERT (4) CABE

S @ gen ad F fran % 99 N wad S= Wt afafi € 2

(1) g3, (2) WUEHRE.(3) WL (4) HuHH3.

Article-45 of the Constitution is related to :
(1} Central Universities

(2) Compulsory Free Universal Education
(3) Compulscry Secondary Education

(4) Compulsory Higher Education

dfaye it gR-45 1 G @ :
(1) F=a famme @ @) e fr.yes wasy e @
(3) fard meafis fren 9 (4) e 3= fasn @
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79. Which type of correlational technique is appropriate when the na-

80.

81.

82.

ture of both of your variables is dischotomous?

(1) Biserial Correlation (2) Partial Correlation

(3) Spearman Correlation {(4) Tetrachroric Correlation
TEHATETH ThH1sh T P T THR I BT & & 3MTF SHI =R fEueis
q?

(1) wmefafae Tegsy (2) FRF TEEaY

(8) TR Hewy (4) THIFE TEEEY

Which one of the following is objective of summative evaluation ?
(1} Give feedback to student

(2) Give feedback to teacher

{3} Test the after session learning

(4) Test the objectives in middle of session.

frefafea & @ S 91 TF O geiied w1 329 § ?
(1) B F FSqF FEH FT (2) foerr = wies® ToH H

(3) A AW W SrE (4) T FH Uy H IETA N Sl
Which is not a useful kind of play according to Froebel ?

(1) Chorus (2) Monodance

(3) Motor Play (4} Use of Gifts

SRS % TSR 78 YBR H Be SEgEr € 2

(1) &ETH (2) THH I

(3) TETHE G (4) SYERI HT TGN

In observation method is done :

(1} Behavioural analysis (2) Defining self behaviour

(3) Self observation (4) Study of others
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Friteror fafy & foran < 2
(1) =EeR fovamo (2) TN TSR B A
(3) A1 ALY (4) TAU T AHEA

If two different teachers evaluate a answer book and there is differ-
ence in marks then in question paper there is :

(1) Deficiency of Norms (2) Deficiency of Objectivity

(3} Deficiency of Reliability (4} Deficiency of Validity

T I YT Sl STET-3TRT farl BRT Jedifera e 9 afg o i
e R e § A& WA W

(1) HASE & w9 2 (2) acgfmar w2

(3) favasdaa it wdi & (4) g N w=H

Which of the following ideal was added later in the preamble of the
Constitution ?

(1) Equality (2) Fraternity ({3) Freedom (4} Secularism

frfataa ® @ ®i a1 ey Yfaam & sfie § a5 # et T ?
(1) HF (2) YA (3) EETEl (4) o9 v

Which Article of the Constitution authorizes the minority communi-
ties to establish and administer educational institutions of their
choice ?

(1) Article 29 (2) Article 30 (3) Article 45  {4) Article 46
TiqEM 1 FIF G SIS STTIHEAF TS I ST FeSIuR e weqsd
i A 3R IGH TR ¥ SAfuFa w2 2

(1) =BT 29 (2) WL 30 (3) ST[VT45 (4) AT 46
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86.

87.

88.

89.

During British period in India the night-schools were opened as a
result of impact of :

(1) Hunter Commission (2} Macaulay Minute

(3) Sadler Commission (4) Wood's Despatch

| # fafew e § ufiren faas ywd & FR @elt 7 ?

(1) ¥R FHW (2) He&ret fafre

(3) HSR FHHITH 4) TS fedg

Which one of the following is not included in population education?
(1} Language problem (2) Refugee problem

(3) Sex-education (4) Termination of pregnancy
et § § S o uw Serie-fen § aftafad T e 2

(1) T-|HEAT (2) IRONT weEE

(3) di=-faen (4) s T

Which of the following was not included in Buddhistic curriculum ?
(1) Logic (2) Medicine

(3) Milind Prashna (4) Vedic Rituals

fpefefad & § FF W g yemem & wiva 54 @ ?

(1) wHma (2) fafemara

(3) fafa= wea 4) e wifEme

The Report of UNESCOQ International Commission on Education (1972)
is known as :

(1) Edger Faure Report (2) Learning To Be
(3) Secondary Education Report (4) University Education Report

ekt STUEE fan SR (1972) % FRagT & W @
(1) TSR R U (2) @ffrz e

(3) VHvsh weHvH furd (4) FFafdd aeaem Rad
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91.

92,

93.
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Article - 25 of the Indian Constitution is related to :
(1} Permission for changing ones Religion

{2) Preventing religious education

(3) Religious education

(4) Religious freedom

it Sfem F AR - 25 ey § -
(1) v 9fteds | (2) wnfiier fnen & fg q
(3) enfHe forem @ (4) enfiies wean

If the dependent variable decreases with the increase in indepen-
dent variable, the correlation is in which direction ?

{1} Downword (2] Negative (3) Positive {4) Upward
Ife Tag R F g6 | R R H9 Dar 2 @ Tegey rw fow # € 2
(1) STErH (2) THERREE  (3) HWEREHD (4) e

Which one of the following canmnot be considered as the scope of
Educational Psychology ?

(1) Evaluation and Measurement (2) Financial Accounting

(3} Individual Differences (4) Teaching Learning Process
ﬁmﬁf@aﬁﬁaﬁqmﬁmﬁﬁmﬂgﬁaaﬁmm ?

(1) TEIiHT ud | (2) oTfdF A@iHA

(3) wAfwTa fafima (4) foreror st wfean

The 10 + 2 + 3 pattern of school and higher education was first sug-
gested by :

(1) Hunter Commission {2) Kothari Commission
(3) Mandal Commission (4) Sadler Commission
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94.

95‘

96.

97.

Ty faener ud 399 fas % 10 + 2 + 3 e W game o v
(1) BTV AT (2) FISK AT (3) HUSH AT (4) HEeR Mdm

Which one of the following is not considered as stage of Prenatal
Development ?

(1) Concept formation (2) Embryo

(3) Fetus (4) Zygote

frefafad 3§ 29 @ wF s 1@ g 9 sraeand @ € 2
(1) 99er fawmg (2) 9o

(3) oy (4) I

During the medieval period major emphasis of education in the
Maktabs was on :

(1) Personality development (2} Reading and writing

(3} Recitation of Quran (4) Skill based learning
weshTe § wehder o e 2 9 S e T @ ¢

(1) =afwe fawmg (2) g - e

(3) FH TEA (4) W snefta dra
Which one of the following does not belong to others :

(1) Percentile (2) Decile (3} Quartile (4) mode
frefafaa @ 9 3 o, o 9 Hafyd 78 € 2

(1) sfowai®  (2) TUH (3) =Iqg® (4) SgaAH

Which one of the following is not the part of "3R" in SQ3R method of
study ?

(1} Recall (2) Read (3) Recite (4) Review
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frafafaa o 9 #1991 T SQ3R 1e9aT fafyr i “3R* &1 9m A § ?
(1) =@ 2 T (3) R 4

Placing education in the concurrent list of the Constitution means
that educational finance is the responsibility of :

(1) Public and private bodies

(2} Government and Parents

(3) Banks and other financing bodies.
(4) Central and State gevernments.

daam ) gl fren = Wit w0 @ o § R dfw faw W
IARIIS

(1) wrEsfes o el frerr (2) TR IR aAfques

(3) o 3Rk 37 faxia weumnd 4) FE AR ToT WER

Which of the following names is associated with the projective tech-
niques of personality measurement ?

(1) Binet (2} Piaget (3) Rorschach (4) Terman
frefafag ¥ @ frg &1 W e TN $it yad SEfE) @ gafd 2
(1) fem 2) frms (3) T @) T

100. Which of the following is not a feature of a gifted child ?

(1) Disciplined and obedient (2) Overage for his class
(3) Regular and punctual at school {4) Very good in mathematics

frefafad ¥ @ S a9 sfmrel soE 9 T8 € 2
(1) STganfea T SRt (2) TR FHe W WSS T
(3) Farem ¥ fraftm ud owaag va (4) TR ¥ §gT TSt Bl
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101.The main function of the UGC is to coordinate the development of
higher education in the country :

(1} Conduct examinations (2) Conduct research
(3) Disbursement of funds (4) Set up more universities

oId ¥ 30 fen & fowra & awwag o faufaae™ S98m s uGce i
e o R

(1) e FRTT (2) Y HTA

(3) STTEH 3 @) eifus faafammery $1 T
102, Two factor theory of intelligence was propounded by :

(1} Charles Spearman (2) E. L. Thorndike

(3) J.P. Guilford (4) Kelly and Thurstone

e F f5-vns fagra & vfiues 9 -

(1) el TR (2) 3EA.gHEER

@) S, fiererE @) el ot T

103. Blooms cognitive domain is include :
(1) Attitude, Evaluation, Comprehensions
(2) Interest, Values, Knowledge, Analysis
{3) Knowledge, Application, Analysis, Values, Interest
(4} Knowledge, Comprehension, Application, Analysis, Evaluation

104.As a school teacher, you have been asked by the principal to follow
the progress of a pupil who has just started at the school. What method
would you use ?

(1) Case study method (2) Correlational method
(3} Differential method (4) Experimental method

30



10P/246/20(i)

wraTd 3 39! U et & w9 ¥ e 6 oo fomndt e g § & fornery
3 RY o 2, =1 e 1 ST e 31eaEd FR | 59 i o1 fny fafy
FT I F4A ?

(1) &afe e fafy (2) wEgEgraS fafy

(3) foues fafy (4) e fafy

105. Four esential elements of creativity are :
(1} Convergent thinking, Flexibility, Originality, Elaboration
(2) Fluency, Divergent thinking, Originality, Elaboration
(3} Fluency, Flexibility Originality, Elaboration
(4) Fluency, Flexibility, Memory, Originality

GAIETRAl & TR EYEF O §

(1) e famam, i, S, fawamn
(2) SERNIal, SATER fow, wifeewd, famre
(3) SaRvieral, STeterdd, T, fawaro
(4) vaRYieal, deneE, S, Wi

106.Which of the following is not related to higher education system in

India:

(1) CBSE (2) DEC (3) NAAC (4) ICSSR
frafafag & ¥ 919 9Ra ¥ 399 e s @ eiftm T @ 2

(1) Hauai. 2) CZH.

(3) LT (4) oS U IEAR,

107.Characteristics is not of infancy :
(1) Dependency on others
(2) Full of morality
(3) Repidity in mental activities
(4) Repidity in physical development
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Srerenereen &) frdwar i @
(1) T W fad ) Aww T O
(3) URfe® fam § diwa (4) IR fawg W dfiwa

108.Which of the following is not a name of an ancient Indian University :
(1) Kurukshetra (2)Nalanda (3) Taxashila  (4) Vikramshila

Frefafaa ¥ fras T Weiq aRdT fgereg § Wi e ?
(1) Fo8F (2) et (3) aufaren (4) faswafien

109.The first ever intelligence test was developed by :

(1) Guilford (2) Binet (3) Pearson (4) Torrance
T gfe Fha fawiaa fam o
(1) e (2 f (3) R (4) T

110. The year of establishment of the UGC in India is :
aa B A, T ad #
(1) 1948 2) 1953 3) 1956 (4) 1964

111. An inter connection of two or more computers created for exchanging
information among themselves is known as :

(1) Adomain (2) An internet (3) A node (4) A system

Y| ¥ el & fafa g ) 1 9 | st Foged B sy Feem
.
(1) THIAH (2) TEFREE (3 TS (4) TF YoIA
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112.Mental age of a 15 year IX clas student is 18 years. His intelligence
quotient will be :

%?ﬁaaﬁﬁw IX w& % faanefl ) Afas oy 18 99 7) 3Uw gfeaf
(1) 88.33 (2) 120 (3) 0.8833 (4) 1.20 |

113."An increases in the size of body parts of the organism as a whole,
which can be measured or quantified” is known as :

(1) Development (2) Maturity (3} Growth (4) - Progress
“FAR F 3EFal & MR N gfg foaeh uE s1gen vfmmimee 6= 1 9%,

FEAT T ;
(1} fawm (2) uftgeal 3) oifgfg (4) wmfd

114.Which of the following is not a teacher controlled strategy ?
(1) Lecture (2) Demonstration
(3) Project (4) Tutorial

frafafan §f @ w5 @ fage Frifie g T g R 2
(1) TSN (2) eI (3) ESE (4) TFERTH

115. Which of the following is not a descriptive statistics ?
(1) Averages and dispersions
(2) Correlations
(3) Graphical presentations
(4) Inferring population characteristics on the basis of samples

frfofad § @ #17 avfers gifeast T8 2 ?
(1) faa 9w faeaem
(2) dEHaY

(3) Fesity wEgeeut

(4) Y ¥ YR W TGS AL F SAHAT
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116.Find out the mental age of a 16 years old student who has on 1Q of
125

(1) 18 years (2) 20 years (3) 22 years (4) 24 years
?maﬁ%ﬁmﬁ%mmﬁmwwm 125

(1) MREad (2) =way (3) zH ay (4) =g Ty

117.Close circuit television is useful in the following teaching-learning
situation :

(1) A class with limited number of students

(2) For communicating to a large group of students
{3) For a large group of weaker students _

(4) For addressing geographically scattered students

Feire Gidhe elfifasm fefefea & @ feq wiiftafs & sTavf 2 -
(1) Faet difaa farnell v ach wan ®

(2) foenfdai & o2 vy & "

(3) FHSIR fernfda & wr o2 WE 7Y

(4) Mifes &9 9 fom o =t deilfya =3 &

118. Memory consists of following three separate but interrelated compo-
nents:
(1) Encoding, storage and creativity
(2) Encoding, storage and retrieval
(3) Perception, encoding and retrieval
{4) Thinking, Storage and retrieval
Wit = Ta Fremfofan 769 69 gu% 1 radEid e @ A @
(1) FeGHad, TSR T YSHHHA
(2) FEHohe, HISRU qel T
(3) AT, FeddaA am G
(4) fo=r, wwERor 94 gA.wRd
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119.Which one of the following is not associated with the theory and

practice of programmed instruction ?
(1) B.F. Skiner (2) Crowder
(3) Pressy (4) Robert Glaser

frafafag & 4 &9 ww Afnfim fem & dwitow @ SaaeiE ue R
grsfag &l § 2

(1) dfo Tho FFR (2) FHIBS

(3) I (4) T AW

120.Median clas (170-174) of a distribution of scores of 50 students has a

121.

frequency of 10. The cumulative frequency before median class inter-
val is 22. Find out the median for this distribution.

Targ faenfdar & sl & W& faaen & wfeast o (170-174) St IR

10 ?1 TftegeT o | qefadll ol Tel st 22 §1 faren # aftrm I
Fifea

(1) 169.5 (2) 170 3) 171 (4) 174

Which of the following is not a projective test of personality assess-
ment?

(1) Minnesota multiphasic Personality inventory
{2) Rorschach Ink Blot Test

(3) Sentence Completion Test

(4) Thematic Apperception Test

frfofiaa % @ 9 =t frafor o1 9890 qhem =& 2 2
(1) fiR O 7ediies Afwa aed

(2) ol wrEl-gea wdtator

(3) @ gfd ghen

(4) offer TR Tieor
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122.Programmed instructional material is used to achieve the following :
(1) Aesthetic objectives (2) Affective objectives
(3) Cognitive objectives (4) Psychomotor objectives

gﬁﬂmmﬁamﬁmmﬁmﬁﬁmﬁﬁmﬁmﬁgmﬁm
(1). dedws sevy (2) YIETHS IL¥
(3) HIFRHS ST (4) WA ST

123.Who is designated as the chancellor of Viswa Bharati Shantiniketan ?
(1) Chief Minister of West Bengal(2) Governor of West Bengal

(3} Pesident of India (4) Prime Minister of India
foraare W Favaa o1 Fenfadfa fRY s i @ 2

(1) 9EW sme = e (2) ufEm S 1 TSI
(3) WRd &1 Usafd (4) WY T TEHHEH

124.Which of the following has not been accepted as the criteria of posi-
tive science, which psychology claimed to be :

(1) Objective Observation (2) Subjective Observation
(3) Science of behaviour (4) Variability of data

frafafgs § ¥ 6 T faa | 98 T8 9 T, g e
3 g & -

(1) a&gg sl (2) STHFTE aeiEFA

(3) AR = fagH @) offFel ¥ siadwsiern
125.Who among the following is not a Tirthankara of Jainism ?

(1) Mahavir (2) Maudagalyayan

(3) Parshvanath (4) Rishabhdeo

frafafas 4 9 =69 T 39 o = ddfa afi 2 2

(1) WEER (2) IR

@) ey (4) HEIQH
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126."If we are asked to reform any one aspect of University education,
then it will be-examination" This observation belongs to :

(1) Calculta University Commission
(2) Secondary Education Commission
(3) University Education Commission
(4) Education Commission

“afy frafaurcr fer % fAed v ¥ gur ¥g 799 %8 9 9@ 98 9 I-
e’ 58 %Y | wafud §

(1) e faufameE amEm (2) ureafhe e S
(3) faafaeer foan s (4) fasw s

127.The repetition of behaviour strengthens the S-R Bond' is an impli-
cation of Thorndike's law of :

(1) Contiguity (2) Exercise (3} Effect (4) Readiness

R F TR TH-AR e H) ueEy v 8, avfen % 5w fem 9
o A 8 2
(1) S (2) =™ (3) S9E (4) Al

128.In connection with teacher education, Education Commission has
recommended that :

(1) All types of teacher education should be brought under the uni-
versities.

(2) National Council for Teacher Education should be established

(3) Teacher education should be imparted in self financed colleges.

(4) Teacher education should not be the concern of the universi-
ties.

foren sy 3 sremme foen & g ¥ fawfie i ¢ R

(1) 9ot weR it @ it sremes e, faafaeel % adiF € =ik

(2) Us s1eags fen yfteg =6t T =R

(3) S-faadifya Sicen o e faan § s =g

(@) fasfremcm = s fan @ Fi weR T8 S =iz
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129.Which of the following subjects are excluded from state and concur-
rent lists of the Seventh Schedule of the Constitution of India ?

(1) Elementary Education (2) Secondary Education

(3) State Universities (4) Central Universities
Prfefea & @ fa famdl 91 wRe % dfaum o S o /@ TeT ol
e gfedi ¥ =R @ T R 2

(1) uRfw s (2) weafuw fen

(3) w9 fqafsae @) s faafaarem

130.Which of the following great educator first started supervising the
practice in teaching of the teachers ?

(1) Froebal : (2) Pestalozzi
(3) Maria Montessori (4) John Dewey

freafefaa ¥ § =R 99 RreremeR, e gdvem sevs) F o oy
1 ggaeT o fRen ?

(1) e (2) et

(3) Wi mRewd 4) <iq gt
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SECTION-II
LELER |
(English Language Comprehension)

Note : Attempt all the 20 questions in this Section if you do not opt for
Section-I11 on Hindi Language Comprehension.

Four alternative are given as possible answers to each question.
Give the correct choice as an answer.

Read the passage given below and answer the questions based
on it. Do not go beyond the passage to answer questions.
Choose the most suitable option.

Those who perform the intellectual function in society, Gramsci
tries to show, can be divided into two types : first traditional intel-
lectuals such as teachers, priests, and administrators, who consti-
tute to do the same thing from generation from generation; and
second, organic intellectuals, whom Gramsci saw as directly con-
nected to classes or enterprises that used intellectuals to organize
interests, gain more power, %et more control. Thus, Gramsci says
about the organic intellectual, "the capitalist entrepreneur creates
alongside himself the industrial technician, the specialist in politi-
cal economy, the organizers of a new culture, ofp a new legal sys-
tem, etc.” Today's advertising or public relations expert, who de-
vises techniques for winning a detergent or airline company a larger
share of the market, would be considered an organic intellectual
according to Gramsci, someone who in a democratic society tries to
gain the consent of potential consumers, win approval, marshall
consumer or voter opinion. Gramsci believed that organic intellec-
tuals are actively involved in society, that is, they constantly struggle
to change minds and expand markets; unlike teachers and priests,
who seem more or less certain to remain in place,doing the same
kind of work year in year out,organic intellectuals are always on
the move, on the make. At the other extreme there is Julian Benda's
celebrated definition of intellectuals as a tiny band of super-gifted
and morally endowed philosopher-kings who constitute the con-
science of mankind.

131. What does Gramsci mean by traditional intellectuals ?
(1) those who were born intellectuals for generations.

(2) those who pose as intellectuals always

(3) those who constitute to perform the intellectual function for gen-
erations

(4} those families whose generations have been intellectuals
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132.What does Gramsci mean by organic intellectuals ?

(1)
(2)

(3)
(4)

those who do not work in the interest of classes and enterprises
those who emerge from mother earth to perform sacred func-
tions for classes

those who are linked to classes and enterprises, work for their
interests

those who are connected to classes and enterprises in the poli-
tics of religion

133.Does the organic intellectual produce other intellectuals ?

(1
(2)
3)
4)

woax?en intellectuals only give birth to other secondary intellec-
tuais

organic intellectuals find it too difficuit to produce intellectuals
therefore give up

Yes, for example, the entrepreneur produces the industrial tech-
nician

Organic intellectuals being brought up on organic diets can of-
fer it to others also

134.What does an organic intellectual try to do in today's society ?

(1)

tries to gain public consent, approval of consumers and voters

(2) tries to gain public confidence for manufacturing goods and ser-
vices

(3) tries to go out to sell the products of his company and firm

(4) tries to indulge in politics and manipulate voters only
135.Why do organic intellectuals keep on the move ?

(1) because they become restless at a place after some time

(2) because they hate to stay at a particular place for ever

(3) because they try to change minds and expand markets

(4) because by moving they make more and more money
136.}Uhat?happens when traditional intellectuals stay at a given place for

ong

(1) they start indulging in politics

(2) they become part of an organic community

(3) they do the same work year in year out

(4) they become indistinguishable from organic intellectuals
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137.What is Julian Benda's definition of intellectuals ?
(1) intellectuals are organic to a community of people
(2) intellectuals are traditional people who perform traditionally
wealthy roles

(3) intellectuals comprise a small group of extra-ordinarily gifted
people and are the conscience of mankind

(4) intellectuals are a community of bright, philandering men and
women

138.Choose the meaning that is most removed from the given word or
least close to it :

Marshall
(1) arrange (2} assemble (3] collect (4) save

139.Choose the meaning that is most removed from the given word or
least close to it :

Entrepreneur
(1) capitalist (2) industrialist (3) businessman{4) employee

140.Choose the meaning that is most removed from the given word or
least close to it :

Endowed
(1} permanent income (2) borrower
{3) possessing talent (4) having ability

141. Find out the correct sentence :

{1} A good novel tells us the truth about its hero; but a bad novel
tells us the truth about its author

(2] A good novel tells us the truth about hero; but a bad novel tells
us the truth about its author

(3} A good novel tell us the truth about its hero; but a bad novel tell
us the truth about author

(4) A good novel tells us the truth its hero; but a bad novel tells us
the about its author
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142.Find out the correct sentence :

(1)
)
(3)
(4)

The thing I hate about an argument that it always interrupt a
discussion
The thing I hate about an argument that it always interrupts a
discussion
The thing 1 hate about an arguments is that it always interrupt
discussion

The thing I hate about an argument is that it always interrupts a
discussion

143. Find out the correct sentence :

(1}
(2)
(3)
(“)

Knowledge is comfortable and necessary retreat and shelter for
us advanced old age.

Knowledge is a comfortable and necessary retreat and shelter
for us in advanced old age.

Knowledge is comfortable and necessary retreat and shelter or
us in advanced old age.

Knowledge is a comfortable necessary retreat shelter for us in
advanced old age.

144.1dentify the correct sentence :

(1)
(@)
(3)
(4)

The highest proof of virtue to possess boundless power without
abusing it

The highest proof of virtue is to possess boundless power with-
out abusing it |

The highest proof of virtue is possess boundless power without
abusing

The highest proof virtue is to possess boundless power without
abusing it

148, 1dentify the correct sentence :

(1)
(2)
(3)
4)

ghe greatest pleasure life is doing what people say you cannot
o

The cFreatest pleasure in life is doing what people say you can-

not do '

ghe greatest pleasure in life doing what people say you cannot
0

The greatest pleasure of life doing what people say you cannot

do
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146.Fill in the blanks with the most suitable option given below :

AS........... well-spent day brings happy, sleep, so life well used............
happy death.

(1) oficcceennns bring (2} a...oocone.e. brings

(3) in.......... brought (4) into........ brought

147.Fill in the blanks ;

No man is........ old as to believe that....... cannot live one more year.
(1} such........ she (2) more........... he
(3} SOucerereriinnnnnn. he (4)  SO..eereenenn. for

148.Fill in the blanks with the most suitable option given below :

Tact........cccuunne. the art of making a point without making..... enemy.
(1) of......... the (2] isicviiienen an
(3) in...... of (4) isccricreirennn. the

149.Fill in the blanks with the most suitable option given below :

If 1 have seen further it is by standing......... shoulders of giants.
(1) on the (2} in the
(3} among the (4} of the

150.Fill in the blanks with the most suitable options given below :

Those who wish......... appear wise among fools, among..... wise seem
foolish. '

(1) to.iiininnn, the (2) is.oeeenen.n. of

(3) inmceeiinn. the (4) for......... the
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